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Variables

A Navia(¢isa SUWV\bO \

(often a letter) that represents
2 NuMeviC  value.
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A coordinate plane is formed by two W‘Cg
that intersect at \ZD(A’\' called the _ Or?Y \O:)X_Y\___

(point )
Each \/Q\ £ on the plane corresponds to an ordered pair of

Coordinate s (£ Y )

The first number in an ordered pair is the X" \/4 ‘(A{
The second number is the (;’ 'qu{




September 18, 2013

I v

EEEEEEEEEE v-axis ey '\
! ! / Origin (‘0,0!

9 | \ X-Axis hOY’\%YM\ «

The x-coordinate determines the movement _V_(gﬂ’\f_ and
_leex

The -cov(\)rdinate determines the movement gf and
éow

Each ordered pair shows a ‘(@\M\DY\ between the X -
value and -value.
A _Y2\a'ON can be represented by:

Ordered pairs ( ' ) T
Plotting points on a coordinate plane +
Mapping

Table of values

Equation

%:X+{

V V. V V V
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Plot the pointsi(-2, -5)s(-1, -4),2(0, -3)#(1, -2), (2, -1)
Y

J. I

A_ WA ‘p o | Y\g illustrates how each L-Value, or

member of the domain, is paired with a % -value, or
member of the range.

Draw a mapping for the above relation: (-2, -5), (-1, -4),
(0,-3),(1,-2),(2,-1)

X-domain  YFINgL

=2 >=5 D‘—2,-—\,D,
—‘ >‘L( \ ;Z

(I) /?‘2. R¢ ‘6/4"/-3

2,1
Lz vty
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A )('o\b\e of JAWLS 4150 shows the relationship
between X -values and \J -values.
Y (%9)

Create a table of values for the same relation: (-2, -5), (-1, -4),

(0,-3),(1,-2),(2,-1)

XY

-1 \~Y
0|3
| |-2
'21"

Another way to represent a Y'((O(‘(\W\ is through an
fquafon

(%, 4)
The equation that represents the relation:
(-2,-5),(-1,-4), (0,-3),(1,-2), (2,-1) is  y=x-3.

o =X -
Verify: %=-2%3 s _6____5 v
a3 >4
: ‘3 :O-B ———7—3 :*%\/
330\ -22(3’%-2::{;&/
=232 ="
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9 45

-9-\3 odd, 1'1-29
71,22,24, 25, U1l o4




